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NOTE : Attempt five questions in all. One question from
each unit is compulscry. All questions carry
equal marks.
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(2)

What do you understand by maximum level,
minimum level and ordering level of stores and
stocks ? What factors are taken into account in
fixing these limits ?
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& 2010

1 Opening balance 50 units @ Rs. 3 per unit
Issued to production @ 2 units

Purchased 48 units @ Rs. 4 per unit

O~ W

Issued out 20 units to Production
19 Purchased 76 units @ Rs. 3 per unit

24 Received back into stores 19 units out of 20
units issued on 9th August, 2010

27 Tssued to production 10 units

Set up a ‘Stores Ledger’ from and enter the
following transactions adopting the weighted
average method of pricing out issues :
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2010 August

I Opening balance 50 units @ Rs. 3 per unit
5 Issued to production @ 2 units

7  Purchased 48 units @ Rs. 4 per unit

9 TIssued out 20 units to Production

19 Purchased 76 units @ Rs. 3 per unit

24 Received back into stores 19 units out of 20
units issued on 9th August, 2010

27 Issued to production 10 units
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(4)

Calculate the total earnings and earnings per hour
of three operators A, B and C under Rowan
Premium Bonus System and Halsey Premium
System. The Bonus being calculated at 50% of the
time saved. The standard time for producing one
dozen articles is 20 hrs. The hourly rate of wages is
Rs. 1:00. The actual time taken was A—16 hrs,
B— 12 hrs,and C — 10 hrs.
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How is Labour turnover measured ? Distinguish
between ‘Normal’ and ‘Abnormal’ idle time. How
would you deal with each one of them in Cost
Accounts 7
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A manufacturer of T. V. sets finds that in 2010 it
cost him Rs. 7,20,060 to manufacture 175 sets
which he sold at Rs. 5,400 each. The cost was made
up of :
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Rs.
Materials 282,000
Direct wages 3.24,000
Factory overhead exp. 48,600
Establishnfent and general expenses 65,460

For 2011 season, he estimates :

(a)

(b)

(c)

That each set will require materials to the value
of Rs. 1,600 and an expenditure in wages of Rs.
1.800.

That the factory overhead expenses will bear the
same relation to direct wages as in the previous
year.

That the percentage of establishment and
general expenses on factory cost will be the
same as in the previous year. Prepare a
statement showing the profit he should make
per unit if he reduces the price of the set by
Rs.200 .
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On 1st January 2010, a contract for Rs. 3,00,000
was undertaken and following expenses werc
incurred during the year :

Rs.
Material issued from stores 2,000
Material purchased 60,000
Wages 40,000
Wages accrued (31.12.2010) 10,000
Indirect Tax 18,000
Plant sent at site 80,000

|
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Material at site

3,000
Materials returned to stores 4,000
Material lost by fire 1,000
Depreciation on plant 12:5% p.a.
Work uncertified 20,000
Cash Received from contractee 1,12,000

Cash received is 80% of work certified i.e., after
deduction of 20% retention money. From the above
particulars, present :

(a) Contract Ale,
(b) Work-in-progress Afc, and
(c) Related part of the Balance Sheet.
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A certain product passes through three process
before it is transferred to finished stock. The
following information is obtained for the month of

December :
Process | Process | Process|  Actual
Stock
Particulars I I I
Rs. Rs. Rs. Rs.
Opening stock 2000) 12000| 10,000 25000
Direct material 130001 20000| 49000 -
Direct wages 10000 10500{ 50000  —
Production overhead 10,000| 25000| 25,000 -
Closing stock 5000|6000 32000 33,000
Profit % on Transfer 20% 25% 10% -
price to the next
process
Inter-Process Profit for| — 2000 2,800 10,000
Opening !
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Stock in process are valued a prime COS and
finished stock has been valued at the price at which
it was received from process {11. Sales during the
period were Rs. 800,000, Prepare process accounts
showing profit element at cach stage.
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How do you ascertain the following ratio and what
purpose do they serve :

(a) Utilisation Ratio,
(b) Ratio of costs 10 Revenue per tonne-mile,

(c) Ratio of costs of Revenue.
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Integral accounting system is an improvement over
non-integral accounting system. What are the
advantages of integral accounting system ? Explain.
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2012 1,20,000 9,000
2013 140,000 13,000
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The necessary particulars aré as fql!ows S
Year Sales - Proﬁl
Rs. Rs.
2012 1,20,000 9,000
2013 1,40.000 13,000

Assuming that the cost structure and selling prices
remain the same in 2012 and 2013, find out :

(a) Profit-Volume ratio,

(b) B. E. P. for sales,

(c) Profit at the sales of Rs. 10,000,

(d) Sales required to carn a profit at Rs. 20,000,
(e) Margin of safety in 2013.
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